
Assembly Guide

CERISE
www.ceptertech.com

SCREW ACCESSORIES

PARTS ACCESSORIES

S1

H

Jx2

Ix2

K

N

N1
N2

S7
S11x18

S7x3

M

O

Q

S11x4

S3x2

S5

S6x4

Please make sure the table legs are vertical to the
connecting rod. And then tighten all the screws.

S10x4

S6x4 S10x2

S5

S4x2

S4

Tighten

S4

M5*16    x2

S11

M4*14    x4

S11

M4*14    x34

S1

S7

x3

After assembling the product, please refer to 
the Operation Manual for further guidance.

6mm    x1

S1

6mm    x1

S3

M8*16    x4

S5

M4*12    x2

S2

3mm    x1

S6

S10

S1

M8*25    x8 6mm    x1

x4

S1

6mm    x1

S2

Step 1

Step 2

3mm    x1

6mm       x1

A H

M N

I J

K Q N O

B C D F G

3mm       x1

x2

x1 x1 x1 x1 x1 x1

x2 x2 x1 x1 x1 x1 x2 x2

M8*16    x13 M5*16    x2 M8*25    x8 M4*14    x38x3 x4M4*12      x2

S2 S3 S4 S5 S6

A*2

S3x3

S3x2

Make sure the front labels are in the same direction.

S3x3

C*2

M8*16   x6

S3

M8*16   x2

S3

S3

M8*16   x1

S3

6mm   x1

S1

6mm   x1

Step 1

Step 2

Same side

S1

6mm    x1

S1

B

1 2 3

B

F

D

G

S7 S10 S11

Redundant screws can be used 
as spare screws.


